Bt 2 om? YU

.160cm-
RN
1
I \\
I
I \,
: 230cm
n 1
1
I
I /I
I — | = — —
/
/ |
/ 1
/ 7
/ 180cm
4 7/
/ 7
cm?®



/
~0.5m”
3




/
/
~0,6m~




ohe F Hu7h P Ae 3L ol RGN

D 6m?

@ 5.3m3

@ 900000 cm®

@ Ao Zo|7t 1.2m ¢l A-SHA o] Hu]

® 7F27F 1m o] AI27}0.5m, %°17F 2m ¢ A&7 <] Fu



Ao 7k2 7t 2m, AlE7F 5mol 1, 0] 3m 20cm?l A8 HA 9]
Hol= 2 m? guzt?

B s



HOl 7127 8m, A=7F 5m, =7} 4m 60cm?

SR R

ol
E

6.



WA 7F2 7} 5m, AE7F 4mo] 1, %=0] 6m 20cmSl F-SHA 9
=2 md Jy7i?

B s



HO 7127 7m, AI27F 6m, =°]7F 2m 80 cm?Q

SR R

ol
E

8.



A o] 727t 7m, A 27 8mo]1l, =0] 9m 30cmgl A8 HA <]
Ful= 2 md Ju7k

B s



10. 29O 7127t 3m, A7} 2m, %17} 3m10em] 2§ HAH ] 2]

E
= 2 m® Yyt

a CE m?



60cm ~




1m 80cm

7/

Z3m

-

“7m50cm
©




\

1m 90cm




14.

L] 727 9m, A Z7F 8me]1l, &=°] 7m 50 cmQl 25 HA| ]
Ful= 2 md Ju7k

B s



=]
an

o

—_—

53

EHo 7=t 6m, A Z=7F 4m, E=°17F 1m 20cm?] A-5H



® ©® ©® ©

@

2] 7F27F 5emo]al, MZ7F 6em, E°17F 2em ¢

7}27F 3em, 27} 2cm, E=0|7F 5cm €1 A-SHA|



17. e F Ra7 b AL R o AU

@ =017} 5em Q AHLHA

@ g O] Hol7t 16cm? Q1 HSHA|

® 3 EAZ7}F 4emQl FSHA

@ 7F27F 4em, AZ7F 7em, =°]7F 3em @1 2S5 HA|
® 7F27} 4em, A27F 2cm, =017 4em @1 Z-LHAA



